



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(\frac{3}{5} + \frac{3}{4}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \frac{2}{3}\right) =$$

$$\left(3 - \frac{3}{5}\right)^2 + \frac{1}{5} \times \frac{1}{3} - 4^2 =$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{2}{5} + 4^2 + \frac{1}{2} =$$

$$\left(2 + \frac{3}{2}\right)^2 - \frac{1}{2} - 5^2 + \frac{2}{3} =$$

$$\left(5 + \frac{3}{4}\right)^2 + \frac{1}{6} + 3^2 - \frac{1}{2} =$$

$$\left(\frac{3}{5} + \left(\frac{1}{3}\right)^2\right) \times \frac{2}{5} + \left(\frac{3}{2} - \frac{3}{5}\right)^2 =$$

$$\left(\left(\frac{2}{3}\right)^2 + \frac{1}{5}\right) \times \frac{3}{2} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(5 + \frac{1}{4}\right)^2 - \frac{1}{4} - \frac{2}{5} \times 4^2 =$$

$$\left(3 + \frac{3}{2}\right)^2 - \frac{1}{6} - 2^2 \times \frac{1}{2} =$$

$$\left(\frac{3}{4} - \frac{1}{6}\right)^2 + \frac{1}{5}\left(\frac{1}{2} - \left(\frac{1}{3}\right)^2\right) =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(\frac{3}{5} + \frac{3}{4}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \frac{2}{3}\right) = \frac{2087}{1200} = 1\frac{887}{1200}$$

$$\left(3 - \frac{3}{5}\right)^2 + \frac{1}{5} \times \frac{1}{3} - 4^2 = \left(-\frac{763}{75}\right) = \left(-10\frac{13}{75}\right)$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{2}{5} + 4^2 + \frac{1}{2} = \frac{367}{20} = 18\frac{7}{20}$$

$$\left(2 + \frac{3}{2}\right)^2 - \frac{1}{2} - 5^2 + \frac{2}{3} = \left(-\frac{151}{12}\right) = \left(-12\frac{7}{12}\right)$$

$$\left(5 + \frac{3}{4}\right)^2 + \frac{1}{6} + 3^2 - \frac{1}{2} = \frac{2003}{48} = 41\frac{35}{48}$$

$$\left(\frac{3}{5} + \left(\frac{1}{3}\right)^2\right) \times \frac{2}{5} + \left(\frac{3}{2} - \frac{3}{5}\right)^2 = \frac{197}{180} = 1\frac{17}{180}$$

$$\left(\left(\frac{2}{3}\right)^2 + \frac{1}{5}\right) \times \frac{3}{2} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \frac{59}{30} = 1\frac{29}{30}$$

$$\left(5 + \frac{1}{4}\right)^2 - \frac{1}{4} - \frac{2}{5} \times 4^2 = \frac{1673}{80} = 20\frac{73}{80}$$

$$\left(3 + \frac{3}{2}\right)^2 - \frac{1}{6} - 2^2 \times \frac{1}{2} = \frac{217}{12} = 18\frac{1}{12}$$

$$\left(\frac{3}{4} - \frac{1}{6}\right)^2 + \frac{1}{5}\left(\frac{1}{2} - \left(\frac{1}{3}\right)^2\right) = \frac{301}{720}$$